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39-He came homewith a........... face. Wewere all
shocked what had happened.
1)bloody 2)blood
3)bleed 4)bloodshed
40-The number of population is (a/an) .......... which is
usually changing.
1)account 2)structure
3)valuation Arariable
41-Thisbook isa............. reference for our English
cour se.
1)satisfied 2)populous
3)requisite 4)invasive
42- | asked the attendant isanybody had .................. my
glasses.
1)stuck out 2)broken out
3) left out 4)handed in
43-The............ near coastal regionsare very high.
1)temperature 2)humidity
3)population 4)industry
44-1syour watch ............... or automatic?
Dfaulty 2)out of order
3)broken down 4)manual
45-The president of the company ......... the meeting and
talked about the new policy.
1)addressed 2)invaded
3)defined 4)situated
46-The doctorstried toremoveall the............. cancer
cells.
1)explosive 2)invasive
3)attentive 4)favorite
47-Not many people can be situated in......... zone.
1)genera 2)commercial
3)private A)territory
48-Do you know ........... the engine?
1)how do you start 2)how starting
3)how start 4)how to start
49-] got the boy ......... . hewasreally dirty.
1)to wash 2)to be washing
3)be washed 4)washed
50- The teacher asked me............. solve the physic
problem.
1)if could | 2)iscan |
3)if | could 4)if | can
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